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Arpeggios mit Tensions

Tonleitern
Major7 + 9, #11, 13 = Lydisch
1 9 3 #11 5 13 7 8
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61 : -
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T 0 2 ° 1
A 0 2 4 -
-B——3
Minor7 + 9, 11, 13 = Dorisch
1 9 b3 11 5 13 b7 8
#h 3 4
\\Q—)V o [
T 0 2 3 !
AE ; 0 1 3
Dominant7 + 9, #11, 13 = Lydisch b7 / Mixolydisch #11
1 9 3 #11 5 13 b7 8
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T 0 2 3 !
A 2 4
-B—3 5
Minor7b5 + 9, 11, b13 = Lokrisch #2
1 9 b3 11 b5 b13 b7 8
A7 8
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T 1 5 1
AE 5 0 1 3 4
MollMajor7 + 9, 11, 13 = Melodisch Moll
1 9 b3 11 5 13 7 8
f ° 10
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T 5 , 0 1
A 0 1 3
-B—3
Vermindert7 + 9, 11, b13, 7 = Halbton Ganzton
1 9 b3 11 b5 b13 bb7 7
A ll 12
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T 0 I
A ! 2 l
B, 0 1 3 4 I
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